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STEPS | TOOK

CREATED A SAS FILE TO CALL TO MACROS TO PREPARE OUTPUT OF INELIG PATIENTS, THEN
USED THAT FILE TO MERGE WITH ELIGILIBITY, DOLLAR,S AND STEP2. THIS CREATED A NEW
OUTPUT CALLED PATIENT_ELIG

USED PATIENT_ELIG TO FIND PROC MEANS FOR AVG TOTAL PAY OF PAITENTS
COMPARED DATA WITH EXCEL FILE OF AA

THEN LATER CREATED A REGRESSION OUTPUT FROM THE WORK.PAID OUTPUT. THIS ALLOWED
ME TO SEE ALL THE DISEASES.

FOUND MY MODEL AND FILLED UP THE OUTPUT EXCEL MANUALLY
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Effect Effect Number

Step Entered Removed EffectsIn SBC
0  Intercept 1 132322.969 DISEASES AN D

1 CARM 2 116284 559 A

2 CARVH 3 106683.190 G E

3 CARL 4 102150.906

4 INFL 5 99656.786 With the GLM Select our goal is to

s | DiaaL 6| 98445 084 ch?os§ the S.BC (Schwarz Bayesian Q

I — = ee——— Crlterlon? with the smallest value. We

see that it suggests a_65, and CAREL as

S e 8| 35531462 the most likely association.

8 DIA1H 9 94836383

9 INFH 10 94556.797 | wanted to know ifEajdiovascuIar, and \—
10 CAREL 11 94474 740 diabetes has a role in infectious rate.
11 a 65 12 94444 692* 9 b

* Optimal Value of Criterion / \J
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Presenter Notes
Presentation Notes
I wanted to know if cardiovascular and diabetes had an affect on infectious rate based on the age of person.

I decided to go this way because it seems that people with diabetes have many health issues and I wanted to know how true this sentiment was.


CDPS [ CDPS Label
a_45_64m 45<=age<65 male 0.066y, 0.069 4 -0.023 -0.023 394360 4.46%
a_45_64f 45<=age<65 female 0.107 " -0.004 -0.014 722744 8.17%
a_65 65<=age 0.087 0.086 -0.013 -0.019 18469 0.21%
CARVH Cardiovascular, very high ~ 7.467 7.791 8.514 8.990 6896 0.08%
_/CARM Cardiovascular, mediu 1.551 neo 1.728 1.813 77725 0.88%

CARL Cardiovascular, low 0.849 0.867 0.941 0.971 294787 3.33%
CAREL Cardiovascular, extra low 0.231 0.236 0.140 0.142 733753 8.29% E I H T
DIA1H Diabetes, type 1 high 0.952 0.990 0.710 0.746 3479 0.04%

DIA1IM Diabetes, type 1 medium 0.952 0.990 0.710 0.746 105014 1.19%
DIA2M Diabetes, type 2 medium 0.464 0.480 0.252 0.262 30450 0.34%
DIA2L Diabetes, type 2 low 0.464 0.480 0.252 0.262 291111 3.29%
INFH Infectious, high 2.538 2.621 1.962 2.055 3263 0.04%
INFL Infectious, low 0.304 0.301 0.327 0.324 108248 1.22%
R-squared 0.345 0.338 0.319 0.313

PMPM 371 351 295 275

Y,

St

NAME OF FORMER a b c d Weight_SM a_wgt b_wgt c_wgt d_wgt
VARIABLE
|_ADJRSQ_ . . . . 0.31.. . . .
|Intercept 22,000 28,000 13,000 41,302 0.26 5,720.00 7,280.00 3,380.00 10,738.52
|45<=age<é5 male 1,404 757 375 1,086 0 - - - -
|45<=age<65 female 1,314 6,022 2,876 7,923 0.01 13.14 60.22 28.76 79.23
|65<=age 18,442 3,200 1,502 4,163 -0.08 (1,475.36) (256.00) (120.16) (333.04) l
Cardiovascular, very 195 282 127 377 4.69 914.55 1,322.58 595.63 T,76;}5~
high ~’ |
| Cardiovascular, medium 964 1,211 606 1,627 1.74 1,677.36 2,107 1,054.44 2,83(.98
| Cardiovascular, low 5,752 7,243 3,478 10,898 0.58 3,336. 1 4,200.94 2,017.24 .84
| Cardiovascular, extra low 3,458 4,261 1,990 6,160 0.15 518.70 639.15 298.50 £4.00
| Diabetes, type 1 high 131 190 94 247 1.63 213.53 389.70 153.22 402.61
| Diabetes, type 1 medium 943 1,269 567 1,729 0.87 820.41 1,104 493.29 1,504.23
| Diabetes, type 2 medium 1,256 1,611 752 2,380 1.03 1,293.68 1,659.33 a4, 2,451.40
| Diabetes, type 2 low 4,371 5,385 2,504 8,178 0.67 2,928.57 3,607.95 1,677.68 5,479.26
| Infectious, high 8 11 10 12 4.21 33.68 46.31 42.10 50.52
| Infectious, low 96 125 54 170 3.65 350.40 45625 ™ 197.10 620.50
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Presenter Notes
Presentation Notes
Here are the weight comparisons from the AA excel output and the output I did for the variables in the previous slide.

As you review the two outputs you can see a difference in the weights.

The higher the number, the higher the probability of correlation.


$ 82311.96
$ 104,302.00
0.79

SumWgts= 16344.82 22537.6 10592.36 32837.18
Population= 22000 28000 13000 41302
HMO Average: 0.74 0.80 0.81 0.80
HMO Rel Wgt= 0.94 1.02 1.03 1.01
Cap Payment=$ 37147 $ 40246 $ 40740 | $ 397.53

$ 394.58

HEALTH PLAN
RESULTS

FROM LEFT TO RIGHT IT HEALTH
PLANS AB,C,AND D.

| WANTED TO FIND OUT BASED
ON THE VARIABLES | CHOSE
WHICH HEALTH PLAN WAS BEST
SUITED FOR PATIENT NEEDS, OR
WOULD SAVE THE MOST MONEY
FOR OUR COMPANY.

HEALTH PLAN A IS OUR CHOICE ~

7
J.


Presenter Notes
Presentation Notes
My goal was to try and find the health plan that worked to help save the insurance company money while also providing care to our patients. 

I chose health plan A to be the choice followed by D as a close second. D has a higher population in their plan but could be more costly as time progresses.

Health plan A has less people but should remain about the same as time progresses.


STATISTICAL ANALYSIS

After observing and comparing various weights, prevalence of conditions, while comparing them to

national weights. | have found there a low correlation with older age groups (45+) in conjunction with

cardiovascular, diabetes, and infection rate.

Further analysis would need to be done for other disease types and possibly younger age groups

could be done to determine additional affects of disease.
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